A 3 F IS K B E i R 3R

Eﬁ'! 17 {F

KRB CRBUIKR )
| ENE R )

HEmEiesRme BTG mAE R R A LT

AR WA

wg Ji: i) i
HEHE - B A 11| 41| 4.20] 5.25| 5. 25| 6.13] 6.13] 7.10| 7.10] B.a7| 8.17] 9.12) g4
H f (a/s) (60} (61) 85| (sa) (s50) (s50) 53 47
B | @ 0 & || G| G| | G | WG | RO |G | G | R | | #O [ ws |
R w | o | @ | @O | @ | ooy | @ | m | m | m | ew | o | m [ |
gy | RIS QM (B : 4 ) [10:00]14:00{10:00|10:00|14:00] 10:00] 14:00)10:00| 14:00|10:00|14:00]10:00 14: oul
al & K ® (m) __:
R X # (m)
EFmmm (wa) B
W MEE A (&S ) ¥
4 #o(ty oo0| 108| 1mo| 2zis| zao| 245 255] 190 28.7 z20| 235
- b, 4 B (e) B.O g0l 12o0| 155| 180| 185| 18.5] 185 235 185 140
i - 38
B’ - = = = = -" - = - = -] ==
e i3
o o ¥ (m3rL) goo| 000 0.00 000 0.00 0.00
g | 7Ax KR (wl) 0.000] 0000 0000 o000 0.000 0060
- m i (mpr2) ooo| o000 0ao 0.00 0.00 000
AR oaa]| 000 0.00 0.00 0,00 0.0
i ] {=a L) 0.03| 001 n.oo 0006 0012 o003
#ou( 648) (gt 0.00| 0o 0.oo 000 000 oo
B | & i (meL) 0013|0008 0.00 0032 0014 0009
2 K 3 (sprL) 0000|0000 0000 0000 0000 0oon
pH 0| 12 82| 86| 761] 782] 70| 70| 0| 87| 72| 84
f;' n 0 (2p2) 1155) 11.55 1064|1042 B2 82| 887| 904| mis| a1a| se4| ssa
3 B 4] D (R} 1L.69| 120 L61| 129 Lg 02| o18| 08| o041 o041 05| 083
5% [ c 0 D (m72) 13 060 068 0.74
A 8 8 (mgrL) 108] 138 6.2 6.8 2 4 59| 107 6.2 34| 104 159
A K B B 6 B0rPNwom] 30| 20 12] 11| 23| 13| 130 1so0|REM | REM| ooo| oo
o A A (L) ‘g
7 o2 /4 — o # (L) 0.00 000 0.oo 0.00 000 0.00 '
L # (272) | o022 012 0.04 0.2 016 018
B & iy (mprL) 0.04 011 0086 011 016 0.249
| E R & k() 0.00 05 3 0.0%9 ooz 004 015 |
H | &8~y (L) 007 0.21 0.05 0.04 000 005| |
-4 = & (RELY 0oo 0.00 f.on ooo 0.0 gao] 8
bl * (=278) 0.16 0.1 0.3 0.3 0.0 ez| |
W& A+ v () =
Hle = Hwowo .
E‘ Fve=THERA (L) 020 007 0.087 012 0.04 008 |
yl & 7 & 2 v B 3.2 912 216 14.1 235 184
—~ | ® | 584 19.4 B33 109 117 144 |
EE B o TR miE R (L) 004 0.00 003 002 0.03 00z| |
] e —
— FTvyead b » )
oW oM OtE 8 X -
o o m &
i i, Kb (m)
3 2ol

CRFEIRMIE 1

I GLE 2w T, ER, i, oSS oiitiErdaz i,

z ERMORoyz, @IE, SUTkKL AN, toRERET L,




ARSI E R RE

Bk 17

“RRe  CHBJIKR)

AE RS RN PO TR DR YT

Al % (# R MsILER) AHEZR ME (BFEAE-BERaSREE)
B A Hh 2L Jiry Bl
FFasls A-B 10,12 10.12|11,14)|11.14]12.13)12.13
5T B (idls) 43 29| 80| 25| 27
(e W @ B | RO | RO | WO | WD | WD | O
B E NI EEERERERERE
’-E;TEBE;I] ( B ¢ 4 ) |10:00|14:00(10:00( 14200)|10:00| 14200
4 ez K B (m 0.50| 050 o4o| 040
Arg m & & (w 0.20| 020| 015| 015
AT LERLED ;
i 'ﬂﬂi B (B )
K # () | 190 =225] 120 140| 20
B # (c) 165| 185| 100 11s] &0
B 1
I 21 =1 =1 = =l ===
El 3
B | = T ¥ (o L) 0.01 000 oo
0 T A & s 7k R (m2) | oooo 0000 0.000
E3 ] B (mprg) 0.00 0.00 000
M ¥ &2 & 4 (mL) 0.00 000 0.00
i [ # (msL) |o0007 0.004 0.016
ge s ( 6 (wE) | oo 0.00 0.00
B | i J (mL) |o0012 0o14d 0014
g Kk B (wL) |oodo 0.000 0.000
pH 71 7.8 8.7 8.6 T4 6B
: D 0 (82724) 511 &8z 1065( 1013 1227) 11.78
| B o D (= L) 065| 046 243 255| 086| 073
m|c o D (mg) 060 049 0.42
R 5 S (mL) 4.8 a3 50| 86 7.0| 105
; ¥ I B B SOENDosD) 0 [i o 0 | 28000 40000
oot Al ()
7 =/ — A B=wL) | oo 000 0.00
# # (mp-L) 0.18 0.24 0.29
B | & g (=) 0.32 030 0.28
WO B O B (me) 010 0.01 004
B | MM NS (L) 0.02 008 012
| & 8 £ (E3 L) 000 0.00 000
il i (L) 0.2 0.3 0.4
HOE A4 4 = ()
Hle @ & wo
E: Fre=Ti R (L) 0.06 0.06 0.04
W[ 2T Aa E (L) 21.1 23.0 20.8
~ | or | 108 125 107
| ke :d':-flj_'}-ﬁii'ﬁiiﬁﬂ (mg L) 0.01 0.03 0.03
:;ﬂ L - -
w | v et agx
| M OB R
| o 2 R
L AEL, ke (m)
3 Ol

e —

| LRGSR 1 R ovTiE, K, . ACBBOARIRATAC L,
2 BMRONIL, B, AU LA BAK, TOREETLL,




22 I B AR T R R R

Wi 17 5 |
KA (HRIIKR) PR RIS R 2 mm:&m;mmmuwﬁ}?f
EilE (R R ) AN HEHE AL
mEma | = e ol
AEmA w 11| 4.11| 4.20| 5.25] 5,25| 6.13] s.13| 7.10f 7,10 8,17 8,17 Q,E_},']';'
il it (d3) (0} (10| (20)] (20)| (21)| (2m)| (29)] (2%) [l
g R & ® a0 |mo|sen | eo] el o] ] B | e | R | B |G | g
Bl x Ry oox | sy | @ | om | m | sk | o | M| @m | @ | 8 | w | oM
by | MEEREE R CB§ : & ) [10:00[15:00|13:35/10:00]14:00] 10:00]14:00 10:00] 14200] 10:00| 14:00| 10: 00| 14, gyl
a % . B (m B
R K B (w B |
ElFaima (%5 ) a
AR L LE NN o
41 # (c) 17.6] 10| 180| 235| 270 255 3Ls| 230 330 270| 270
R . 4 #@ (z) 130] 1s50] 135| 210| 265| 235 300] 215 4. 11 230| 21p
fa i
i ht = = = = = = = = - - - =
7 3 F |
w“ .k  (ros L) ooo|l o000 ooo noo noo 000
g | 7w kR () 0.000| 0.000 0.000 0.000 0000 0.000
# i 8 (L) opo| 000 000 ono 0.00 0.0 0
B "% r 2 2 & (mt) 0.00| 0.00 0.00 000 0.00 000
" & (7L} g.oLl| ool 00 0oz G002 0005
#e o ( 64h) (=278) 0.00| 000 a0 0.00 000 noo
B | & % (mg L) 0613|0005 (.-w 000|~7) |000s 0oog 0008
# Kk #H(wo 0000|0000y 7| w000, 50, [ eooof [ 4| oooof /T, |eo00 ik
4 pH 70| 68 .J_u.’u 85| 15| 8ss s ed| .as| a§| 2| 17
= D 0 (m72) |11p2|r026| o | 1262| 1002], 95 86),4108] 1129 018| 03 3|/ nzs8 ni',.
@/ | B a D (mgL) .55 211 299| as1 19| 26| 1s1| 172] ozo| 1o7| o087| 087
%)l 0 D (rL) e o " " a 1.34 1.08 328 B
B 75 8 (m L) 138| 170 BE| 134 6| 12| 4z 43| o8| s8] 772| 8sod
4 K B B 5 EFyhoed] 10 |THAh 49 33| 130] 120 40| 1300 | FERH| Sl 210 ﬁ
n =t A4 (ae) ;
7 = L — A (L) 000 090 oo oo 0.0n oo
¥ #H {mg L) 004 002 0.01 001 0.02 0.086
| & B (=a72) 023 004 000 001 0,05 013
W B O B () 0.01 018 002 003 0.04 o21| |
B | BRE=vH (i) 000 003 001 000 000 0ol
7 = 4 (rg8) 0.00 000 000 0.00 0.00 0.00 _:
i B (mrF) 005 0.1 0.2 0o 02 0.1
& A4 4 (L) B |
e = &me B
E FTHE=T7RE (L) 0.01 - ba1 0,25 010 010 u,o_s_-_____
L 27 A h ) B (L) 120 50.5 30.8 399 274 215
~ | E 52.9 296 625 69.0 554 §45) |
0| B ARG (ced) 003 003 0.04 003 003 002
a4 T - — 4
il 11
w | TR A F v | il
i W R O 8 R | .
M ™m # & =
fili i, ki (m) B
5 T ol |

BARIEREI L RIEGE eow T, ER, i, RCESofEEATR L,
2 @I, @, SWUECL 5863, TOFEETAC L,

-




2535 A 7KK H U SE RS Rk

h-—____‘_\_

M 7 &
[ RRE  CRMRIIAR ) R RIS RNE W kR N s
sl R 8ILE ) AFESE WA
—_ _ _mEma " [
ﬂ]ﬂﬁ -H 10,12 10,12|21,14|11,14]122,13]12,13 ]
= | & LT N 71| 71| se| 5o N
Tk R B | ®e | mo | me | mo | me | R
[k  #®|wm wm (& [m | wm [
m M_;}] (W 4 ) |ioio0] 1400 w_:?‘u_ 14300 10:00{ 14:00
& X g (m) 070 o7o| os0| o050
il i K K B (m) ozo| ozo0| oz20| o020
g Fama (BH) |
MEELERLES ]
Ei # (%) 24.0| 2s0| 140| 175| 50| s2
A B # (o) 210| 210 Bo| 1o0| 44 6.0 -
._.ﬂ = — — -~
K b =] =] = =] =
Kl B
o 7 ¥ (ng’L) 0.00 000 ooo
NEEXE I I [ nooo 0.0 00 0.000 C
e ] 5 (ma L) 0.oo 000 000
| %[ F ¢ & = (w2 | ooo 0.00 000 -
i R (m/L) |c0001 0002 001D
& (8l ) (=) 0.00 0.oo oo
B[ % (m2) [oo00s| O/ [oo0s| | o004
Ak 8B [oooo [LiI] 0o0o]2.77 [oooe| [ )R
pH Bo| sd| 74 i [ 74| 79
i’ D 0 (m2) 1096|1093 d214[1180] 1373 1279
m| e o D (mL) 1.96| 240| 1es| 2zs1| oes| wurz
#|c (4] D (mg L) 190 | 18 187
Mg 8 (/L) 82| 93| 38| 3so| 78| &89 T
f & B B PNMeLY 170] 230)|16100]16100|43000 |240000
a8 (L)
7=/ -2 H(nse) | opo 0.00 001
" # (o) | ooz 0.0% 0.03
B | & i (mprL) 031 0os | oos
Hoim ®m o s 001 007 0.04
H | M=y (ngie) 0.00 001 .00 il |
# e 4 (p2) | o000 0.00 0.00
i ¥ (ror L) BT 041 02|
R 4 # ()
Hla =  zme 1
E FAE=THRE (L) 0.1 6 039 255
AR 16 280 zo.3| 335
| e - E 664 694 666
9 paonmEwmees) | oo 0.04 005
Lell] B
T L -
ol I R A T B
AR R > 1.
[N ® O o m %
B oaM, ki (m)
2| xom
LEIEGIUA 1 BRMEIRSOWCR, A8, GH, ROBSONTEATSC L,
2 EMIEONE, BE, SWEK L U4, toBEETE L,




25 3k F 7KK B s AR 3

M4
P ANG TEE S B R % B 0 mnuummmmmnmﬁfx};
e (e sl ks ) o ESE Wa
A th ﬁ =
HEmA “H a, 11| a.11] 4,20| 5,25 s.2s| .13 s.13| 7.10| 7.10| 8,27 BT u.n_;:?
it | (dss) [(873)[(673)(204) (32)] (22)] (15)] (1L3)MERANGR(D0) 228| 228]| 169| 6y
% i ird By | ML |G | G| B | B | B | WA WG| G| B | G R
LA E ® | ok | w | m [ m | [ | m | @ | @ | m | ow | om | w
| WD (B : 4 ) |10:00] 15:00[10715/10:00]14:00| 10:00]14:00] 10100] 14:00{10:00] 14:00] 10300 14:0
al & r 4 m () I
w B K B (=
E|lF e (6 ) B
W | @R NS ) 3
P # (%) 105] 160] 1s0]| 240| 260 270]| 300| 230 3Ls 285 283
2 #* A (r) 10.0| 1235| 145| 225 248| 2a0| 260| 23s 258 z5s| 228
<! 1
2 a4 - - - - - - - - - - - =
i RE
o 7 v (mgsL) ooo| 000 000 0.00 0.00 0.00
& T A& A k8 () 0ooo| 0000 0ooo oooo 0ooo ]
o 8 B (97t} 000| 000 0.00 000 0.00 0.00
B 5 ¥ = & 2 (mt) 000| ooo 0.00 000 00| 0.00
" b4 (mpr2) 0.0z2| 004 0.00 0002 0.002 0.003
#ea ( 6{F) (mgd) 0o0| 000 000 0oo 0.00 0.00
B | & ¥ (= L) 0012 0005| (T3 oo0| & |oooz| & |ooos 0.006 .
B K 8 (we) 0000] 0000f 7., [eoco| 4.5 [ o] 4 0l | aoool 1% | 0000V EL |
5 pH 70| 68 7o 2i| 740 747 e8| 74| es| 73 /4 7'1: ;
w| P 0 () |11n7af1086f, 1) | vo13| 1243/ 60| 47 es0| s36| s01| 701l s2s| s2s
BB 0 D (ng/L) 166| 2356( 466 o54| 27| 41| 62| arz| 234| 150 1zo| 138
Bl e o D (egg) 6.0 430 483 247 .
g 8 8 (e/2) | 128 180 94| 120 8| 8| 48| 2ss| 142| 70| 168] 22
% B | 0 PN wesd] =20 10 33| 109|1609| 172| 9180|16000|16090| 840| 9180 1200|
n -~ I (sp72) _ _
7 =/ — (L) | 000 000 0.00 0.00 0.00 0.00| |
L i (ne’2) | o007 0.10 0.01 0.01 0.03 0.03
Bo| @ % (mprL) 0.21 009 002 03 010 014
MW E B O k() 0.00 013 008 0.03 005 o30|
B | @Ry (L) 000 0.05 005 ool o0 o0g¢| 1
7 ” 4 (mg/L) 0.00 003 0.00 0.00 0.00 0.00|
i % () | 004 0.1 0.2 0.1 0.0 oz| |
BB A % v (L) N
Wl & (e ;
E v e TR (L) 005 161 070 L7 043 0.13
Y2742y L 145 634 50,6 50.4 408 288| |
| L3 358 any 78.1 774 771 s12| W
%;?:* A A AR () Doz 008 0o g 01l 0.14 coz| |
o
W E] i 4 *
et T HyE=p Lt ¥ =
LT
W e H = &
{ii A, K (m)
T ol

RiEESGH L

FRIENE o2 T, R, Of, RL0BFoREATIL L,

2 EHEoNiT, WX, SHFCI SR, TOoOREETSL L,




4 3% K EUK B B SE 5 R &=

B 47 &

ne CHEBIRR)
ng ( eI B )

B e S mang (UGia7 e R i) U e

s R e

Qﬂ @ %
ﬂ]ﬁfﬁ_ﬁ-—-— _-EI 10.12)10.12(11,14 | 11,04 §2,13[ 12,13
" e it (25) 184 7.0 fi.B 53 6.0
R |G | B | WG | WG | BEG | #ED
wlx ®|wm |& | m | m | m | m
3 'E,_u;,ﬂ (BF ¢ & ) |10:00]14:00]|10000] 141 00] 101 00{ 14200
_é__“_h;gq_ # O (m) 055 055 050 055
n T B K & (w pzo| ozo| o0zo| 020
AET LTI ILED)
| [ (B2 )
"ﬁ__ #o(e) 225| 180 140] 170 55 65
H % @ (c) | 185| 2o0| oo0| 100| 50| 65
N 8
£ I
i} 3
e 7 v (mgrd) 001 .00 0.00
M ETEEEL I 2N 0.000 0oon
T ® B (e | ooo 0.0 0 0.00
W% F ¢ o & (m2) 0.00 000 0.00
T s (ms£) | ogoz 0,002 0034
g 70 4 ( 6fi) (m/L) | ooo 0.0 0 0.00
1B [ B (/L) |ono0s | o004 ooo6|
: B K i (L) |o000| ’;r 0000 (250 [oooo| 7Y
T pH o 7| el il 75| 73
ﬁ ) O (m72) | d79|1001]|d0s1| a6l 1201 1248)
Tm|® o D (rg”e) |"210| 240 203 aaz| ree| 199
"|c 0 D (L) 210 537 251
L 5 (L) e5| 49| 37| 83| 144 154
[l % I B % POMPN00sL] 490| 49016100 [16100 [160000 | 240000
e e g
7 = /4 — 2 (mrL) 0.00 0.00 0.00
L # (mg L) 002 002 018
B | 4 R (mrg) | 027 0.07 0.35
M m W & 0.0 6 001 0.04
H| Mgk~ H (L) 0oz 000 0.00
? P 4 (B3 L) 0.00 0.00 0.00
b $ (L) 0.1 0z i1
LM E A )
Hle @ &
; | FEs TERGR (2L 008 142 283
H [ &7 A5 0 E (L) 329 367 304
- | E 65.7 693 751
01 g oNmiEEA (22) | oos 0.08 0.10

o0

m m « F ¥

Kl
VI Trr=gadt ¥

I

Am., & (m)

L0 MmO s B
]
3

3| xom

LRIEGHHE 1 BEOHICSWTIE, KB HGE, iﬁaﬂ=ﬂwﬂﬂjtﬁhfa: E,

R 2 ElEod., WE. SR L5 8&E, toBdRTac ks




36 R K K Bl e S AR R

HFRAE CRBINRER )
il R R )

REiEmRsRmEs
A ELR BA

ICIRTEEYFE L RNk o, ER, 4GB, fL8FOMEEATE L .

2 EEEonn, EE, SN L BsR, togEETaLE,

w“ N L TR
il 5= 21 B .__H-H a1 ] 4.11] 4.20] 5,29] 5,25) 6,13 6,13] 70| 7,10| 8,17
it it {-st/'-‘.r (429) [(ea)|(271)| (130} (130} (17.2) | (16.1) 2 2 | :,_Ja
B W | || W | Al | b | A | WO | B | B | G
A ES ®|m [ | @ | W [ | w | W | W | W W
| EEURO¥ ) (B : 4 ) |10:00[15:00| 9:38|10:00{14:00 | 10:00| 14:00]|10:00| 14:00|10:00
& K & (m
Bla ®m ox & m | ) =
E | Fama (®a) | i IR
rAE T LETLCERER ] .
5 #B () 170| 190 180| =as| 2s0| 2mo| 290 210 azn
8 K #oe) 115| 140| 155| 230 z4o| 2s0| 2s5| 2se0 270
= —= i ol
B 4, = = = S C
i i1
o 7 = (m9/L) 000| ooo 000 n.00 0.00
) . T P cvz}' 0000 | oo00 noono 0000 o000
B 5% (e noo| noo ooo| | ooo 0.00
B % F 2 o a(wd) 000| 0.00 0.00 0.00 | 0.00
i 51 - (m L) - o0s| ooz 000 ool nooz
goa ( 6) (28 Goo| ooo0|° 000 oo 000
B [ & % (L) 0.010| 0008 0.00 0010 0.018
B kB (L) 0000 0.000 0.000 0.000 0.000 noon|
i pH 70| 68 10| 70| 713| 747 70| 70| 70| 81| 70 I'.i'
& | P 0 (m/2) (1040|1023 712| 844 tz] 17| 8s3| o1l 398|1159| 799| 5l
M| B [¥] 0 (L) 181 =zoa 549| 672 4.1 48| 845|1230| 294 264| oss| of
B | c 0 D (mesL) 10,3 1166 T T
" T3 S (m7Z) | zzz| 190 az| 122 8| 12| 12o| 1oz 74| so| res] W
o Fo B T B BOVPNAOD| ol i [ 141| 240| 918| 94|16080]|16080| 230 go| 170| o0
e~ VY (me) _ ]
7 w4 — A B (L) 0.00 0.0 0 000 000 L ] __:
¥ # (ra/L) 007 002 001 002 001 0.02 t
B | d i (mprL) 0.71 005 004 | oos 0.05 oLl ¥
WO E R O O (we 001 010 0.4 0.00 0.02 0.5 )
B | @M~ (L) 000 0.0 4 055 000 0.00 000 f
Ed e 4 {(mg E) 0.00 000 0.0 0.00 ooo| | oon
i # (mpd) 000 0.0 o2 03 0.1 0.1
MR A 4 7 (mid) | - )
Hle @ k(e i :
ﬂf FrvE=rfRHE tm;’k.l' i 0.03 | 326 80| | a1 148 028 |
'er a7 o V(L) | 212 582 354 108 580 T
| B | s23 516 G544 945 | 84.8 s2s| 4
T B&A A TR IE R (met) 0.03 009 022 0.28 0.3 eoz| |
D] : = :
Wi.[l T?TG;A:A—? . 8
|
i BOm oK =k — A
W o™ e @ R
W oaw, GO (m P
% | xowl |




AIERKEOKHME R RR

o 47 4
[ aRs (ABIIKE) SUSEIRMHEME IR R R e
#llA (iR #il e ) SFELSER A
- WIS i i H
Wﬁ%&ﬁl 1002|1012 |18,14 11,04 )22,13]| 12,13
---—‘E_'_ #® (270) 229 192 88| 1 7.6 8.0
T&-_ B {i M|t |FEL | HEA | B0 | FEoLe | Sl
mlx @ | om o | [ | om
s T (B : 4 ) |10:00|14:00]|10:00|14:00{10:00 14200
3 = Kk B (m
WIrg m «~ & (m
AET LETLESR)
m FErLERE.E
s # (r) 2e0| =285| 135 1es] &0 111
H & il (e 180 zo0a| 11s| 13s5| &3] @0
. e
(a Rl =1 =l =y =l = =
N [
o T w (mgld) 0.00 0.01 000
' p [ 77 % 2 kE e foooo 0,000 0.000
H B B (L) 000 000 000
B F 2 v 4w 0.00 0.00 0.00
3.  * (=/2) | o001 D001 0.010
" e A ( Gf) (miL) 0.00 000 000
B & #E (mL) |oDoS 0.004 D005
| ® &k R (we) |oooo 0.000 0.000
" pH 68| e8| 70| e8| T4 7.1
™ D 0 (=2/2) 762| 462| am1| es58| e58| BOL
gl o D (m37t) | a27| 84| 228| 289 218| 2
! c o D (rp/L) 310 515 442
M 8 8 (mL) 74| 144 80 7.2 86| 1L7
? & I B 8 A0PNA0e 3ao| 490 [18100 0 | 92000 |240000
n-~ i (rers)
| 7= /= (L) 000 0.00 0.00
R il (n3/L) 0.0 2 0.0 2 003
B | % (m72) | oz 0.08 004
(B M B () 0.04 0.02 008
[ | A~ (e ono 0.02 0.03
g2 = 4 (mgll) 000 000 000
L & (ra/L) o1 0.1 0.1
W 4+ v ()
Bile @3 %)
; Y= 7iEEA (nerL) 04 7 BE 2 385
W& Fah y pr(eeid) 457 18.2 523
~ | E 702 73.8 758
;;: | Bt BN R A (e 0.04 0.08 0.20
H!Ii 1 O
Sl 7veatadF v
AT E
=10 m # 2 =
Wl oA, G (m)
A | tow
ERIEGNE 1 g ovTIE, R, HE, RUBBONEEATHE &,
. 2 AWML, B, fWERc L3843, ToRERTHCL,




